Separate the following differential equation and integrate to find the general solution:
yZe—zy/ = 3z

Then give the particular solution that satisfies the initial condition y(0) = 9.8 and state the interval on which
this solution is valid.

General Solution (explicitly): y(z) =
Particular Solution (explicitly): y(z) =
Interval of Validity:
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Separate the following differential equation and integrate to find the general solution:
5

Y=
y‘i

General Solution (implicitly):
If you don't get this in 5 tries, you can get a hint.
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Then give the particular solution that satisfies the initial condition y(0) = 7.4 and stat
this solution is valid.

General Solution (explicitly): y(z) =
Particular Solution (explicitly): y(z) =
Interval of Validity:

If you don't get this in 5 tries, you can get a hint.




Separate the following differential equation and integrate to find the general solution
y' = cos?(2z) cos?(4y)

General Solution (implicitly): | |
If you don't get this in 5 tries, you can get a hint.
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